2025ATAD A= FRA NS XY
BEXSRTER(8/10)

5/18 | 6/22 | 6/29 | 7/20 | 8/3 | 8/10 [ 10/12] -
- 8 | rooras oo || SERR [/NEFIE|RE =55 —F | BRE—&|Kirakira| »—vws
[[=Fiva K4 FWy | Rorait| KRS 5 A 5 A 5 5 5 5
N N ] N N N N D T
INEZF
JIE 43z K4 FH [Rorast| KEHK INERSH | A2 =155 —F | R —&|Kirakira| »—7vvxs
1 KRG HE 8 45 3 10 25 10
2 =K FEK 8 15 1 15
2 HE 3AL2F 8 15 1 15
2 JUR B3 8 15 1 15
5 =K FEK 8 10 1 10
INSELF
JIE 43z K4 FH [Rorast| KEHK INERSH | AE =) 55 —F | BRE—&|Kirakira| »—7vms
1 Fim Bk 11 40 3 15 15 10
2 &E5 B 11 15 1 15
3 HER ZELF 10 10 1 10
INGEF
JIB 4L K4 EiS [rooran]| K& INERSH| A2 =155 —F | EE—&|Kirakira| »—=vms
1 {Fik @& 11 61 4 6 25 15 15
2 F5 12 45 3 15 20 10
3 [ ERNIB/AE] 12 16 1 16
4 Fik % 12 10 1 10
4 Wik RF] 12 10 1 10
heE 4 T F
JIE {3z K4 FH [Roorast| KREE [vooan| SHER [/INEFEH|AE=NI|S55 —F|BE—&|Kirakira| »—7vvm=
1 Rk fE 13 70 4 15 25 15 15
2 A EE 13 16 2 10 6
3 KEF BHE 13 10 1 10
ERELF
JIE {5z K4 gy [rorast| K& [vosan] BB [/NERE| A2 =155 —7|mRE—&]Kirakira| »—o<vms
1 R B 15 30 2 15 15
2 = BRF 17 25 1 25

¥ ERE. EERER




2025ATAD A= FRA NS XY
BEXSRTER(8/10)

5/18 | 6/22 ] 6/29 | 7720 | 8/3 | 8/10 | 10/12| -
" IO IR oo |v7osan] SEER [/NERSE|AE =155 —F|EE—&[Kirakira| »—o s
[1=4ivd K4 Fhp |Rroras| REH 5 A = A 5 5 = 5
R = D N ] N TN P
IMBF
NE sz % Fhy |Rrorart| KEH INEFE[AxE=)1[55 —F [mE—&][Kirakira] ~—<ns
1 R EE 6 40 2 25 15
2 KEF ik 6 30 3 15 15
INBF
JIE {5z K4 FHp |R1rai]| KEH INETSE | A2 =)1| 55—+ | EE—&|Kirakira| »—ovxs
1 Ao & 8 15 1 15
2 Figk BBl 8 10 10
IN3BBF
{3z K4 FRp |R1rai]| KER INETSE | A2 =)1| 55—+ | EE—&|Kirakira| 777w
1 faf E=x 9 25 2 15 10
2 Hf & 9 15 1 15
INMEBF
JIE {32 £ Fhp |[Roren| KEH INERSE| R B =)1| 545 —F | ER— | Kirakira| »—o<ms
1 5i5 £ 10 25 2 15 10
2 b 1ZRE 10 22 3 6 10 6
3 Figk tE 10 15 1 15
3 J\IR K#g 10 15 1 15
5 JngE I 10 10 1 10
6 SRR 10 8 2 4 4
7 EA EE 9 6 1 6
NS F
JIE {32 K£ F@p |R1rai]| REH INERSE| R B =155 —F | ER— | Kirakira| »—o<ms
1 T B2 11 45 3 10 25 10
2 EH FIEE 11 30 2 15 15
3 AR FEX 11 21 2 15 6
4 KE AR 11 10 1 10
4 %H #h 11 10 2 6 4
N6 F
JIE 32 K4 Fhp |[Roorar| KEH IZNEFE| R 2 =155 —F | ER—&|Kirakira| o< s
1 R EH 12 40 2 25 15
2 fEiE ke 11 15 1 15




2025ATAD A= FRA NS XY
BEXSRTER(8/10)

5/18 | 6/22 | 6/29 | 7/20 | 8/3 | 8/10 [10/12] -
ivi e ras oo || SERR [/NEFIE|RE =55 —F | BRE—&|Kirakira| »—vws
[1=4ivd K4 Flp |Rroras| KEH 5 A 5 A 5 5 5 5
R = D N ] N TN P
he 4 B
J[EN K4 FEgh |[Rroras| KE$ |vorsan| EE [/NEHE[AE=)1[55 —F|ERE—&]|Kirakira| »—o~>ms
1 Fill oK #h 15 70 4 15 25 15 15
2 il R 15 55 5 10 20 15 10 6%
3 INFE B TR 14 36 4 6 16 10 4
4 ZH Fw 12 22 4 12 4 4 2
5 WE ZEARR 14 17 3 10 6 1
6 157 5k 14 10 1 10
7 A 3EIH 14 8 1 8
8 515 FIX 13 6 1 6
9 A — B 15 2 1 2
9 B X% 14 2 2 1 1
9 WEZEARR 14 2 1 2
SRERF
JIE {3z K4 FH [Rrorast| KREE [vooman| SHER [/INEFEH| AE =I5 —F|BE—&|Kirakira| »—7vm=
1 BE Z10 17 25 1 25
2 Fik tH 17 20 1 20
3 5l —F 17 16 1 16
4 EH #Fh 16 12 1 12

* Flmld, FERFH




